(8 he

Phép chia Da thtic

Tén:

8 — 382 + 32x + 30
2x— 6

35x2 +21x— 14
Tx+ 7

A3 + T + 35x
Tx

36x% + 80x + 16
4x + &

25x2 + 20x — 21
5x—3

Ngay thang: Diém:

63x° + 182 — 8lx
Ox

22 +3x— 14
2x+7

300 + 2002 — 52x+ 14
6x—2

1223 — 28:2 — 2x+ 20
2x—4

353 — 702 — Tx + 42
Tx—"17
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(8 he

Phép chia Da thtic

Tén:

8 — 382 + 32x + 30
2x— 6
4> —Tx—5

35x2 +21x— 14
Tx+ 7
5x—2

4253 + 7 + 35x

Tx
6> +x+5

36x% + 80x + 16
4x + &
Ox+ 2

25x2 + 20x — 21
5x—3
S5x+ 7

Ngay thang: Diém:

63x° + 18 — 8lx

Ox
7> +2x—9

22 +3x— 14
2x+7
x—2

300 + 2002 — 52x+ 14
6x—2
50+ 5x—7

1223 — 28:2 — 2x+ 20
2x—4
6> — 2x— 5

353 — 702 — Tx + 42
Tx—"17
5% — 5x— 6
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